Trig-Precalculus Quiz 4.1-4.2 Review
ALL SUPPORTING WORK MUST BE SHOWN TO RECEIVE FULL CREDIT

Solve the problem.
1) From a distance of 1201 feet from a spotlight, the angle of elevation to a cloud base is 40°. Find the height of th

cloud base to the nearest foot.

2) A wheel with a 36-inch radius is marked at two points on the rim. The distance between the marks along the
wheel is found to be 3 inches. What is the angle (to the nearest tenth of a degree) between the radii to the two

marks?
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3) Solve sin 6=—2-3—for 0, where 0 < 85—721—.

4) Solve cot O = «/5 for 8, where 0° < 6 < 90°

Solve for x. Round your answer to 2 decimal places. -
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Convert the angle to degrees, minutes, and seconds. = & S § o
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